Xt
BAEARM

100 x 100 |
RET7IL I HEMA
=
S [FER $=1:5]
JNF)UE TE ER#4
L] L | 7L M
SELF/AET 17-50F
[FER S=1:30]
LIS 100
7ILS 2t
BEMLE
2042 00
i S
BERH =
00_30 1782 30_10C RE7 L2 BHA
= . * """"""""""""""""""""""""""""""""""
] i — ] ! 3
(e} oo ' —
3 Cf
o L RE
& P 7L SEER 3t
5 o R4+
' o
& i
” T 8 e
O TR ]
o o 100 o hTE R TOELY 6t
I32) S '
8 1.
: - —_
g A 2
| |
GL | | !
‘ ‘ 3 IL—L
\ \ 0/ ; 7L SHHBH
| 1942 | S 8 | FERL/HET 17-50F
| x |\ 7\ Z | bl
| | HE 8 20
| | - L JE@x(
| = 3
600 I e e e
700 1000 b §
[EER $=1:30] (IR S=1:30] =
(E&EE $=1:5] (IEFERE S=1:5)
HEES &S I iR B EEESEEE RiTAE
RE 34 m/s
No. R4 E#AA 50 kN/ni




